What is the primary goal of an IT innovation strategy?
a) To increase the organization's budget
b) To align technology innovations with business objectives
c) To hire external consultants
d) To reduce the number of employees

Which of the following is a crucial first step in developing an IT innovation strategy?
a) Hiring a new team
b) Assessment of the current state of IT
c) Purchasing new software
d) Rebranding the organization

In the context of IT innovation, what does ROI stand for?
a) Return On Innovation
b) Right Of Information
c) Return On Investment
d) Real Operational Impact

Which emerging technology is associated with secure and transparent transactions?
a) Artificial Intelligence
b) Blockchain Technology
c) Virtual Reality
d) 5G Technology

In a case study discussed, which technology was used by a manufacturing firm to optimize operations?
a) Blockchain
b) Virtual Reality
c) Internet of Things (IoT)
d) 5G Technology

Which of the following metrics would be most relevant for measuring customer satisfaction post-innovation?
a) Time to Market
b) User Adoption and Engagement
c) Incremental Revenue
d) Market Share Growth

What is a key implication of 5G technology for IT innovation?
a) Real-time communication and data processing
b) Immersive gaming experiences
c) Transparent transactions
d) Enhanced data security

What challenge does resistance to change pose in IT innovation?
a) It can hinder the adoption of new technologies or processes.
b) It can increase the budget of innovation projects.
c) It can lead to overstaffing.
d) It can cause a surplus of innovative ideas.

Which of the following is an essential component of a successful IT innovation strategy?
a) Disregarding feedback
b) Ignoring market trends
c) Fostering an innovative culture
d) Avoiding risk assessments

In the future outlook of IT innovation, which aspect is emphasized for ensuring positive societal impact?
a) Human-Centric Technology Design
b) Decentralized Innovation
c) Reduced Time to Market
d) Increased Budget Allocation



